1. The guardrail end anchorage assembly represented on these drawings is a proprietary
design by Road Systems, Inc. and marketed under the name SKT. Any infringement on
the rights of the design shall be the sole responsibility of the user.

2. These drawings are sufficient for plan details of the SKT when installed in connection
with shoulder guardrail and precludes the requirement for shop drawing submittals unless
the plans call for such submittals. The SKT shall be assembled in accordance with the
manufacturer's detailed drawings, procedures, and specifications.

) TABLE 6_|: CONTENTS 3. The SKT is available in steel or timber post configurations.
SHEET DRAWING NAME TS HEY N
B T e steel post components are:
10F5 . , .
(;?ﬁ.“ &Tﬂtﬁgﬂg E%Tg?é,(asr;g) Post #1 lower is W6" x 15# with welded soil plate
) 2 A 2 — g Post #1 upper is 6" x 6" x 1/8" tube and is bolted to post #1 lower with 5/8" bolt
OF 5 Sequential Kinking Terminal (SKT) Post 2 lower is W6" x O#
- | Steel Post System Layout Post 2 upper is W6" x 9# and is bolted to post #2 lower with %" bolt
30F5 ; Sequential Kinking Terminal (SKT) Posts #3 and beyond are W6" x 9# x 6'-0" guardrail posts
i i Steel Post System Part Details
' 40OF5 S tial Kinking Terminal (SKT The wood post components are:
. eqsigolg Pc;Zt g?steenTEgs OEJ,[ ) Post #1 and #2 lowers are 6' long 6" x 8" x 1/8" foundation tubes
5 OF 5 : == : Post #1 and #2 uppers are 6" x 8" BCT wood posts
Swuecrj]t:aal ’:‘gk'”tg Te};m'ft”gl (tS_TT) Posts #1 and #2 are connected with a ground strut and 5/8" bolts
. 00d Fost system Fart Letarls Posts #3 and beyond are 6'-0" long CRT wood posts
4. The SKT is intended for use as an approach terminal for shoulder guardrail
applications. The beginning length of need point is located at Post 3 (see Sheets 2 and 4).
5. The SKT shall be installed as a parallel approach terminal.
6. The SKT can only be used with single-faced guardrail.
7. For details of shoulder grading around end treatments, miscellaneous asphalt
pavement and pay limits, see Index 400.
8. The SKT shall be paid for under the contract unit price of Guardrail, approach terminal
(Parallel), per EA.
9. Site Conditions: The steel post system is not permitted adjacent to sidewalks. A site
\\“““‘\:}lil!i’l’(m"”/ evaluation should be considered if there is less than 25' beyond the back side of the
N2 e CR L, terminal and any adjacent driving lane.
o %} \GEN S£.9%
N Wz
S,.77 No.73867 3, Z
= XS =
Tou, SO S S§ Road Systems, Inc.
2% Lo R\O T ASS R e — — —
"!ff ISR O ~ REVISIONS Sequential Kinking Terminal (SKT)
g S DAE B | DESCRPTON o | (2'-1" Mounting Height/TL-2/Parallel)
¢4 _ : -
o ?m | ——— " 06/2012016 """ SKT-SP-SMGSTL2
e — I - "% 1OF5 | Florida APL No. 536-004-002




Standard Guardrail, Special Transition Location Station
/.or Other Special Treatment

End Measurement For Guardrail Poymh\

4 il h — il 1 '

]
= —_— e SO
/ DEPARTURE TINE :
Beginning Length of Need 12_6"
Approach Terminal Assembly — Parallel (40’—7%“}
| PLAN TRAFFIC
\ —
| 314"
| 2
_\ 6’_..3” 6’_3'! 6’_3" = G’—S" 6’—3” 6?_3”
Location Station
®© ©® o ® o o o
Beginning
Length of Need

l

2
f

Misc. Asphalt Pavement

Soil Plate (Sh Welded)
ELE\/AT|ON > onO Sownsgr%ume S?de

Y
§

]
i uf‘fﬂﬂ g
ﬁ‘ Te__=
g,

REMKD =
SXYAC &SN 5 y .
SEANTTTENGE 0 to 12” Rail Offset Over 25° —
: :; No7aser i % OPTIONAL FLARED INSTALLATION |
== * ol 1:25 Maximum Flare Rate
=10 =] S —— - SV
=R STATEOF &5 @
ZOQ(\"'-.,QOR\OV}.:",S\Q’;'S' Specification 536 — End Anchorage Assembly (PARALLEL) , Road sys!ems’ Inc.
AS e~ < MODEL [SYSTEMISYSTEM] SYSTEM | DESIGN | DESIGN [ TEST LEVEL REVISIONS Sequential Kinking Terminal (SKT)
- ""\?7 5 SKT WIZ%IH HEZi?"'-lT 4c|J_'Er\7]G1T/H2" LEE[\’]G;H <S4|;E5{PDH DESEL;NQ N DATE | BY | DESCRIPTION ] | Steel Post System Layout
18/28¢/ - - < - T . T : —
e — ———— " 06/29/2016 """ SKT-SP-S-MGS TL2
HR o b — T Y& 20F5 | Florida APL No. 536-004-002




o ITEM[QTY DESCRIPTION PART #
A | 1 |IMPACT HEAD S3000
Standard Guardrail, Special Transition Location Station B | 1 | w—BEAM GUARDRAIL END SECTION, 12 Ga. | SF1303
or Other Special Treatment \ C | 1 | FIRST POST TOP {6"x6"xd" Tube) TPHP1A
[ End Measurement For Guardrail Payment D | 1 |FIRST POST BOTTOM (6' WEX15) TPHP1B
o E | 1 |SECOND POST ASSEMBLY TOP UHP2A
F | 1 | SECOND POST ASSEMBLY BOTTOM HP3B
G | 1 |BEARING PLATE E750
H | 1 |CABLE ANCHOR BOX S760
See J | 1 | BCT CABLE ANCHOR ASSEMBLY E770
A Detail A K | 5 | 6X9 STEEL POST P621
|J|-] ﬁ] \&l\ ﬁ'l 1 :: s L | 5 | TIMBER BLOCK (8"x8"x14") P616
o == f e = — ! 2] M | 1 | W—BEAM MGS RAIL SECTION (15'=7 1/2") | 61507
EPARTURE INE — N | 1 | W—BEAM MGS RAIL SECTION (12'—6") G1203A
T h HARDWARE (ALL DIMENSIONS IN_INCHES)
! Beginning Length of Need o a | 2 |5/16 x 1 HEX BOLT GRD 5 B5160104A
12 —6 = b | 4 |5/16 WASHER W0516
Approach Terminal Assembly — Parallel (40’—-7%"} Z 127 :gstfXJETSPLICE BOLT :223?22
e | 1 |5/8 x 9 HEX BOLT GRD 5 B5B0904A
P LAN M t | 5 [5/8 x 10 HG.R. Bolt B581002
-t g | 3 |5/8 WASHER WO050
e h | 23]5/8 HGR NUT NO50
3-13 A . o ., - - o i | 1 [3/4 x 8 1/2 HEX BOLT GRD A449 B340854A
B —3 6 —3 G —3 6 —3 6 -3 6 -3 k | 1 |3/4 HEX NOT NO30
I | 2 |1 ANCHOR CABLE HEX NUT N100
Location Station m 2 |1 ANCHOR CABLE WASHER w100
<7> (6) @) Q_D CB) <2> CD/ n | 8 |RSI SHOULDER BOLT w/WASHER SB12A
o | 8 [1/2 STRUCTURAL NUT NO12A
Beginning B (H. n(8), o(8), p(8)) p | 8 |1/2 WASHER WO12A
Length of Need o A q | 1 | BEARING PLATE RETAINER TIE CT—-100S
= e  — e | GENERAL NOTES:
= & = et Sl 1. Refer to SKT Assembly Manual
/ / 2 @' - 2. The lower sections of the Posts 1&2 shall not protrude
. / f . & more than 4 in above the ground (measured along a &'
@ﬁ ®\ @ Q @ L/ cord). The center line of the hinge bolt at Post #2 is
d(8), h(8 nominally 1 1/8" above the ground surface or misc.
See /® asphalt pavement. Site grading may be necessary to
] ] | ] Detail B Wy, meet these requirement.
) B B WILKGI"IJ,, 3. The lower sections of the hinged posts should not be
Misc. Asphalt Pavement SR TR,

\GENSQ‘? Z driven with the upper post attached. If the post is placed
:"‘ N E

5 ~ )
Soil Plate (Shop Welded) 3, %% inadrilled hole, the backfill material must be

ELE\/AT'ON on Downstream Side §'

- * No. 73667 * = satisfactorily compacted to prevent settlement.
2 = * ! S 4.The breakaway cable assembly must be taut. A
E:% STATE OF Qz‘,},xé' locking device (vice grips or channel lock pliers) should
20 F 3

be used to prevent the cable from twisting when

G, & b2 tightening nuts.
O C Washer A%tacéleﬁl _ d, h.
@ o / Specification 536 — End Anchorage Assembly (PARALLEL)
=T MODEL ISTSIEMSYSTEM] SYSTEM | DESIGN | DESIGN | TEST LEVEL
S WIDTH |HEIGHT| LENGTH | LENGTH | SPEED |DESIGNATION
P N I, m s, \_Metric. Height SKT 20" 31" |40=7 1/2"| 25'-0" [<45 MPH TL-2
0 ™ E’) ?D Mounting Siot
g d :
gy e seesl j B8 Road Systems, Inc.
Detail A Detail B N\ ~ REVISIONS Sequential Kinking Terminal (SKT)
Impact_Head Connection Detail Post #1 Connection Detail SECTION A-A SECTION B-B LB e Steol Post System Part Detalls
Anchor Bracket Post #2 e fa " 06/29/2016 " SKT-SP-SMGSTL2
| ™ 30F5 | Florida APL No. 536-004-002




Standard Guardrail, Special Transition Location Station

or Other Special Treatment \
[_ End Measurement For Guardrail Payment

i

[}
i
r
§
l‘

(]

-
\\.—

: F|
= | R | CEY 1 7 s

/ DEPARTURE TINE
Beginning Length of Need

,] 2’-—6”

Approach Terminal Assembly — Parallel (40’—7%”}

P LAN TRAFFIC

s 4w
2 _\ 6'-3" 6 —3"———j———r—6-3" 6'-3" 6'—3" 6 -3
<7> @) @) (4) <3> <2> G)/Locotion Station
Beginning
Length of Need\
= — l +
2'—=1"

Misc. Asphalt Pavement

cLEVATION

[ 1
! ! ! 1 1 g
1 ! X i _______.‘::ﬂ_::- d |
g, E $ S /_l—//”q*”"——_'—_\al
&\\\\Q,%..--- L’.(‘E/?;”{,, s i | )
& \‘\- \CENgG-.5n%
SV
$.%7 No.73667 i, 2 0 to 12" Rail Offset Over 25 —
._::.* * LYk E OPTIONAL FLARED INSTALLATION
BN maeor S 1:25 Maximum Flare Rate
=R ATEOF WS S—
20 -".’ k “-’.. Q/;E-'
%"%\lomi}‘*d@'\g‘ Specification 536 — End Anchorage Assembly (PARALLEL) m Road SVStemss Inc.
LT oSSR T | e [ (e | FEUSONS Sequental Knkig Ternina (SK7)
?/M/fafé i = : = — DATE  BY DESCRIPTION Wood Post System Layout
SKT 20 31" [40-7 1/2 25'—D <45 MPH TL-2 - - 1 _

— *F 06/2912016 "*"*  SKT-SP-S-MGS TL2

— R ]

40F5 | Florida APL No. 536-004-002




o MEM|QTY]  BILL OF MATERIALS |ITEM_NO. |
‘ : : " ) ) A | 1 |IMPACT HEAD 3000
‘ g&a?ﬁ_ﬁgg g;gg?oﬁm-:-’rei?;c;i‘t IRETon Location Stot'on\ B_| 1 | W-BEAM GUARDRAL END SECTION, 12 Ga. | SF1303
* ![ End Measurement For Guardrail Payment g i Zﬁiﬁgﬁ'ﬂﬁys&g POSaTx?4;1/for)19) E;il;o
1 E | 1 | GROUND STRUT E780
} F | 1 |BEARING PLATE E750
‘ G | 1 |PIPE SLEEVE E740
. , ' ' Dot ?ez H | 1 | CABLE ANCHOR BOX 5760 \
! H Q—)\i i o B =S J_| 1 | BCT CABLE ANCHOR ASSEMBLY E770 i
- i i — i = E— e m——— K | 5 [UNIVERSAL CRT WOOD POST (6") UP671
DEPARTORE e L | 5 | TIMBER BLOCKOUT (6'xB™x14") P675
X M | 1 | w—BEAM MGS RAIL SECTION (15'-7 1/2") [ 61507
e, f, @ / N | 2 | W—BEAM MGS RAIL SECTION (12'—6") G1203A
Beginning Length of Need 12'_6" HARDWARE (ALL DIMENSIONS IN INCHES)
a | 16 |5/8 x 1 1/4 SPLICE BOLT B580122
Approach Terminal Assembly — Parallel (40’—7%") b | 2 [5/8 x 8 HEX BOLT B580804
c | 2 |5/8 x 10 HEX BOLT B581004
‘ PLAN TRAFFIC d [ 1 [5/8 x 10 HG.R. BOLT B581002
j o A - e | 5 |5/8 x 22 H.G.R. BOLT B582202
i 5w t | 26 |5/8 H.G.R. NUT NO50
| 51z \ - o o . - o g | B |5/8 HGR. WASHER WO050
3 6 -3 ' 6 -3 ' 6 -3 ' 6 -3 ' 6-3 ' 6 -3 h | 2 |1 ANCHOR CABLE HEX NUT N100
! i | 2 |1 ANCHOR CABLE WASHER W100
| Location Staticn k | 2 |3/8 x 3 LAG SCREW E350
| m | 8 | RSI SHOULDER BOLT w/WASHER SB12A
| S n | 8 | 1/2 STRUCTURAL NUT NOT2A
| eginnin
| Length m? Neeg\ o | 8 |1/2 WASHER WO12A
| Fer e — i
| =& = L
| = : GENERAL NOTES:

1. Refer to SKT Assembly Manual

2. The lower sections of the Posts 1&2 shall not protrude |

more than 4 in above the ground (measured along a &'

cord). Site grading may be necessary to meet these

requirement.

Detail B @)/ 3. The breakaway cable assembly must be taut. A !
locking device (vice grips or channel lock pliers) should

be used to prevent the cable from twisting when

— —

Misc. Asphalt Pavement g,

1,
\\\\\\6%. '.W"' ,':_}._(.§ 4:3:’/ 7

7,

S e MU tightening nuts.
B8 S \\\ \CENS-S07%
| T £% 73665 bt
| 8" i Exi LU
‘ to Bolt E'UE: : f[t_:f
| — = 2,'% STATE OF ngg ‘
‘ 3 3 ’,,,,/ %‘~'££ o ‘0‘3:".' \% \\S.‘ ‘
— o’ S v
| - o e —"
| Metric Heigh ©/ 25" b 25" M%’fé
| Mcunting Hole Both Sides
GROUND LINE GROUND LINE | O of Rail Specification 536 — End Anchorage Assembly (PARALLEL)
ALK S SECTION A-A MODEL |SYSTEM/SYSTEM SYSTEM [ DESIGN [DESIGN [ TEST LEVEL
\ e R WIDTH |HEIGHT| LENGTH | LENGTH | SPEED |DESIGNATION
| o O3 1/2" DETAL B — POST #1 CONNECTION . 317 |40°-7 1/27] 25'-0" <45 MPH| TL-2
Breakaway
b, f Holes
: k{2 o
of » | S
- B8S§ Road Systems, Inc.
LINE_POST CONNECTION —_—— - -
Posts 3 thru 7 - ~ REVISIONS Sequential Kinking Terminal (SKT)
DATE | 8Y  DESCRIPTION - Wood Post System Part Details
J_"SEP:;N #BQ—B DETAIL_ A — IMPACT HEAD CONNECTION N — DATE 06/29/2016| ™™™ SKT-SP-S-MGS TL?
1T 1 "™ 50F5 | Florida APL No. 536-004-002 |




